Second year Maths Higher Level  -  Area Perimeter and Volume
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1. @ ‘The diagram shows a rectangular piece of

cardboard with a triangular scction cut out,

= Calculate the area of the cardboard

(b) A cone has aslant height of 26 cmand a

radius of 10 cm.

26cm

) £ Find the curved surface area of

the cone, in terms of . %

The curved surface area of the cone is doubled, while the slant height remains the

same,

(ii) 45 Find the radius and hence the vertical height of this cone, correct to the

nearest cm,
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g Question 1 (Suggested maximum time: 20 minutes)

(a) The diagram shows two pulley wheels
of equal size, connected by a drive
belt. The radius of each wheel is 7 cm
and the distance between the centres is
28 cm.

5 Calculate the length of the belt. Give your answer correct to the nearest whole number.

(b) The diagram shows a solid cylinder of diameter 54 cm and of
height 70 cm. A cone, of the same diameter and height as the
cylinder, is cut from inside the cylinder.

() & Caleulate the volume of the cylinder. Give your
answer in terms of .
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& Find the perimeter of the shape  <————— 2lem ——>

shown in the diagram.

A drinking glass s in the shape of a cylinder

of diameter 7-5 em and of height 10 cm.
It has a hemispherical base as shown in the

diagram.

[0} 4 Calculate the curved surface
area of the cylindrical part of
the glass, correct to two

decimal places,

(ii) 4 Calculate the total surface arca

Kl 2o o O m oo (O U
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Question 1 (Suggested maximum time: 5 minutes)
A tissue measures 300 mm * 260 mm. There are 100 tissues in a box.
Find the total area of tissuc in the box in m”
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Question 1 (Suggested maximum time: 10 minutes)
Liam’s garden is in the shape of a square. It has four equal A
right-angled triangular lawns and a smaller square patio in Sm

the centre, as shown.

—><3

(a) Find the length of the hypotenuse of one of the right angled
triangular lawns. \

<—3

(b)  Find the area of one of the triangular lawns.
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{6\ Find the area of the sanare natin in the middle
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(¢) Find the area of the square patio in the middle.

(d) The patio is to be paved with rectangular flagstones of length 80 cm and width 50 cm.
Caleulate the number of flagstones Liam needs to buy to cover the patio, allowing an extra 207
for waste.
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